F5ES © JR-AI-24668E

SUMPORIESNILTOIS A
SEUME’OD SuMPO EPD — R EE AR5 F IR S
'o 1T NREEE (EPD) ERHTFRERAMET-14-8

VERIFIED

KANDA SQUARE GATE
https://ecoleaf-label.jp

FUJIFILM

Value from Innovation

BI 7ML EVRR A/N-Ya e
FUJIFILM Business Innovation Corp.

A3 B/ VOESH

) — A3 Monochrome Multifunction Printer

ATty bFrYF LA BEECEENEEA.

T ApeosPort-V 7080 N (for JP)

ApeosPort. Apeos. Apeos O, HKU ApeosPlus (F. BELXITMILAESRAA I R—2 3 MRS OB FEIELCLEIZETT .
Xerox. Xerox O, SKUFuji Xerox OT(F. KECDOY IR HOEREIZEIZ(IHETT,

BEES
SHm1adbiy

BEX RERPE
B3] Ol fE B4
OEMEZE QFE Qe GO -
®FEZE- VY1)

EOB, TEMLR-FET
Lty : ApeosPort-V 7080 N
FELK  B/0EEKE EPAR)
FIRIEEE : €£/70 75ppm (A4 LEF)
BRAAEIAZ 1 A311x17"

12x18"(FZELM M EAR)
pOVIValaIrE=V
M E IR 8E/ADF(RTE B B5AH)

ERES JR-AI-24668E
EAPCRES  PA-590000-Al-08
PCR#% CIE YN Pl 22
NS 20254 7A8H

RAFEEE 2025458 13H

REEA R VAT LFIEA R

RIES 2025-FB-EL-005

IREFEZNEAR 203058128

PCRLE1-DEE

REAZ% 2023F 98 18
ZER ®B Bz

(FFE — AR AP AT T IR S M)

BFoHRAE BEET

SEBIRRES

ISO14025(C1¢ 212 A B 5 R UT—5 DI LR EE
OREB AR

*YAT LR ER I EERENORIDIH S, VAT LRI EITREEED
ZEEHE.

Mhahth BEXIAMIAESRRAAIAR—>3a>ERatt

EamilXAREHFSUV6T HLIE
https://www.fujifilm.com/fb/

F5ES © JR-AI-24668E



SUMPOBRIEININTOI S L

SuMPO
SuUMPO EPD — R R A Y AT AR A
-0 ' H4TNBIEEE (EPD) ERETREXAME-14-8
VERIFIED KANDA SQUARE GATE

HZREE JR-AI-24668E https://ecoleaf-label jp

17917 VR Bl R

FREREERE | LSRR TR B {E?ﬁ;f = BEEE R
[MEEH-EE kg-COzeq 1.37E+03 2.58E+01 7.11E+01 5.84E+02 2.75E+02
AV BHEIE kg-CFC-12eq 7.98E-05 4.12E-08 2.25E-08 7.42E-06 3.58E-07
EXREL kg-PO4132-eq| 2.17E-02 1.24E-03 1.43E-04 2.65E-02 8.03E-04
[izqc 2|4 kg-SO.eq 3.36E+00 1.61E-01 8.16E-02 2.73E+00 3.79E-01
HAZAXII U kg-CoHaeq 2.40E-02 3.35E-05 5.46E-04 5.44E-03 1.93E-03
EEME RS- kg-Sbeq 9.56E-01 8.83E-05 1.07E-05 2.49E-01 1.66E-04
F1TT1I WA IRY ) S BEEER
—REBROERICEETZIEIE

RN | MBEE | RS 1%;@% BEE
BEAE—RER MmJ 2.10E+01 3.43E-03 1.92E+02 7.50E+02 4.70E-02
FBETR—RER MmJ 2.07E+03 2.57E-01 2.76E+00 1.50E+03 2.43E+00
BARTRE—RIRIF- MJ 2.40E+03 2.02E+02 7.64E+00 2.85E+03 2.94E+02
SERAATRE—RIRIF- MJ 2.18E+04 8.46E+02 8.06E+02 1.35E+04 2.01E+03
BKDHEE m? 6.11E+00 2.41E-02 2.02E+01 8.02E+01 8.55E-02
-BAREEEFEELTEELELE,
EEHEEPHRN)DIZEYFUATEELTVET,
- RO EFEARRIESERMTY,
fER - HESERBECH I 3R BROEMEEENE A,
(FEREBEOENF. BBREIRNFT-AT-TO0T5LVer3 258 %A TR ELETECER TICEELELE,
B ENRIA (L. 835,20002TF,

1/4 x32 (Y37/B) x 87 (B) x5 (H) x4 (B) x 12 (v B) x 5 (£) = 835,2001%

Z0MEDRIERAEEIR
CERIRINE-A5-T0J54Ver3.0 BE,

1
|

Il
iy
Il

mE-mE (EREBS)

iz EH CAS No e
5B 109 kg - _
SIS 53 kg - - -
FIEZYL 0.25 kg
peR 7.0 k| Lt re]
T52597 44 kg | |REIE. LCIT-9R-2IDEA Ver34, SUMPOBEINITOIILERT -5
i 20 kg Ver1.15%&fEALTNET,
A5 25 kg
AR 11 kg Tt
EREBEIR 6.8 kg | |-
Bl 12 kg
Zofte 9.0 kg

OT-YEEDHEIE. PCRELUETE - EEMBESBL TR,
OLLERIDVNTUL, BEE - EERECHEINEREEHELESBEICLNE
(BHBFURL : https://ecoleaf-label jp/regulation/)

DHLNERA,



